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ECONOMICS
(Micro Economics-II)

Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt remaining three questions selecting
one question each from any of the three unit out of the
four unit. All questions carry equal marks.
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1. There is only one Barber shop in a town which gives hair

cuts to adults at Rs. 50 each and kids at Rs. 20 each on the

basis of this answer the following questions :

(a) What concept of market is discussed in above case ?
Explain it.

(b) Explain the degree of price and output determination.
(c) Make a diagram to discuss the equilibrium under this

market.
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2.

(d) Explain the reasons for existence of such market forms.
(4x4=16)
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(a) Choose correct answer.

gl fowen g

(1) Conditions of equilibrium of firm
Wi % HqeR # e
() MC=MR
(b) Slope of MC > slope of MR
(c) Both (a) and (b)
(d) None of the above.
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(i) In SR, a firm may earn.
(a) Normal profit
(b) Losses
(c) Abnormal profit
(d) All the above.

SFeuhel W THIHR H W@ el ©
(%) IE= A9

(@) B

() S Y

(F) ST g+

(iii) Who said that price is unstable in duopoly ?
(a) Cournot
(b) Paul Sweezy
(c) Edgeworth
(d) None of the above.
“Fa sgfeR H otfter A R0 WE fRE
%317
() i
(@) 9ied wrsit

QRSEE]
(9) ISWed H § Hig T&l
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(iv) VMP and MRP are different when

VMP § MRP ¥ T &R Bl & S
(a) AR and MR different

(b) AR and MR equal

(¢) AR and AC different

(d) AR and AC equal.

(v) Loanable fund includes
(a) Investment
(b) Hoarding
(c) Consumption

(d) All the above. (1x5=5)
FUETE HM F G H WA T

(%) Frerw

(@) 9=

(M) IaHA

(F) ST ||
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(b) Match the following :

(a) Normal Profit 1. Price leader

(b) Absence of Supply Curve 2. Wage difference

(c) Leader Firm 3. Short-run concept

(d) Market Imperfections 4. Short-run

(e) Quasi rent 5. Monopoly
(1x5=5)

e 1 e &

(a) FEF A 1. wEd @

(b) 9 o w1 eI 2. HSIgd H A I

U]

(c) UM HH 3. YR &Ron

(d) IR K STYUfae 4, ITEUHTA

(e) 9™ oA 5. THIEHR

(c) Define the following :
(i) What is meant by selling costs.
(i) Define Marginal Productivity Theory.
(iii) What is Price Rigidity ? (2x3=6)
= &1 9w T
(%) fosra @t @ @ atfagE 27

(@) a1 3aRea g &1 gk s

() HHd gad M ©?
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UNIT-I (ZaT3-1)

Explain the importance of time element in determination of
price under perfect competition. 16

7of g & eidia wma fuRon § 99 @ &

e hi AT Hifeg|

Explain the SR and LR equilibrium of firm under perfect
competition. 16

SR & LR ¥ qui Yfc@rft ®H & Hod %l A it
UNIT-II ( 3ehte-11)

Compare price and output determination under monopoly
and perfect competition. 16

THIYER T Qo IR § FH 1 ®iAd ae IR

Hifd sl gt <hitSw|

Explain price and output determination of firm in monopoly.
16

THEMRR # ®H & HAq qo SR faRo w1 =wen

HitT|

UNIT-III ( $ehT3-111 )

What is monopolistic competition ? Explain price
determination under it. 16

TR i R 27 O wimd &9 Fuifa gk
22
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8. Explain the Edgeworth's model of oligopoly. 16
AR & Usaef Hied 1 AR hifsu|

UNIT-1V (Z&E-1IV)

9. Explain how factor pricing is determined under imperfect

competition. 16

o g § WeE iHa Ui o =men it

10. Critically examine the marginal productivity theory for

determination of wages. 16
T & URer & Hmm SR s &1 STererTh
e i)
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